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Net Cash Flow= Cash Inflows – Cash Outflows
Closing Balance= Opening balance + net cash flow
Sales Volume = Sales Revenue / Price per unit 
Sales Revenue or Total Revenue= price x quantity
Total Cost= Fixed Cost + Variable Cost
Profit= Total Revenue – Total Cost OR Total Contribution – Fixed Cost
Contribution= Selling price per unit – variable cost per unit
Total Contribution= contribution per unit * output sold OR
                                 = Total Revenue – Total variable cost 
Break Even= Fixed Cost / Contribution per unit
Break Even point is where Total Revenue = Total Cost
Gross Profit= Sales Revenue – Variable Cost
GPM= Gross Profit / Sales Revenue x 100
Operating Profit= Sales Revenue – Total Cost
OPM= Operating Profit / Sales Revenue x 100
Net Profit or Profit for the year= Sales Revenue –  All cost (Total cost + tax + interest + one off purchases etc.)
NPM= Net Profit / Sales Revenue x 100
Unit Cost= Total cost / Output
Working Capital = Current Assets – Current Liabilities
Current Ratio= Current assets / Current liabilities Ideal 1.5:1-2:1
Acid Test ratio= Current assets – Stock / Current Liabilities Ideal 0.75:1-1:1
Capacity Utilisation= Current output/ Maximum output x 100

